
 Radicals and Exponents Pre – Calculus Review 

Assignment Handout Quiz Next Day! 

 

Name: ________________________         Date: __________________ 
 

Learning Goal 0.2 Expectations for algebra from previous years. 

 
More Questions – Solutions  

 
1. Simplify the following expressions, rationalizing any denominators.  All exponents must be whole 

numbers. 

a.  (𝑛4)−1
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𝑥2𝑦
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=
2

𝑛
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=
2

√𝑛73  

=
2
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=
2√𝑛23
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𝑦−2

𝑥2𝑦
)

2

 

= (
1

𝑥2𝑦3
)

2

 

=
1

𝑥4𝑦6
 

=
 2𝑚−1𝑝3

(25𝑝𝑚−1)
1

4⁄ × 2𝑝𝑞2
 

=
 𝑝2

2
5

4⁄ 𝑝
1

4⁄ 𝑚−1
4⁄ × 𝑚𝑞2

 

=
 𝑚

1
4⁄ 𝑝2

2
5

4⁄ 𝑝
1

4⁄ × 𝑚𝑞2
 

=
 𝑝

7
4⁄

2
5

4⁄ 𝑚
3

4⁄ 𝑞2
 

=
 𝑝 × √𝑝34

2𝑞2 × √2𝑚34  

=
 𝑝 × √8𝑚𝑝34

4𝑚𝑞2
 

 

d.  (
𝑥

1
2⁄ 𝑦−2

𝑥2𝑦
1

2⁄
)

4

  e.  
(2𝑥−3𝑧2)3

𝑥3𝑦4𝑧2  × 𝑥−4𝑧3
  f.  (8𝑥𝑛+2𝑦𝑛+1)

2
𝑛⁄   

=
𝑥2𝑦−8

𝑥8𝑦2
 

=
1

𝑥6𝑦10
 

=
8𝑥−9𝑧6

𝑥−1𝑦4𝑧5
 

=
8𝑧

𝑥8𝑦4
 

= (64𝑥2𝑛+4𝑦2𝑛+2)
1

𝑛⁄  

= √64𝑥2𝑛+4𝑦2𝑛+2𝑛
 

= 𝑥2𝑦2 × √64𝑥4𝑦2𝑛
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2. Rationalize and simplify the following expressions. 

a.  
√2

√12
−

5√3

√8
  b.  

2√𝑥 + 3√𝑦

√𝑥 − √𝑦
  c.  

2√2

√16 − √12
  

=
1

√6
−

5√3

√8
 

=
√6

6
−

5√24

8
 

=
√6

6
−

10√6

8
 

=
4√6

24
−

30√6

24
 

= −
26√6

24
 

= −
13√6

12
 

 

=
2√𝑥 + 3√𝑦

√𝑥 − √𝑦
×

√𝑥 + √𝑦

√𝑥 + √𝑦
 

=
2𝑥 + 5√𝑥𝑦 + 3𝑦

𝑥 − 𝑦
 

=
2√2

4 − 2√3
 

=
2√2

4 − 2√3
×

4 + 2√3

4 + 2√3
 

=
8√2 + 4√6

16 − 12
 

=
8√2 + 4√6

4
 

= 2√2 + √6 

d.  
2√2

2√3 − √8
  e.  

3

√5 − √2
  f.  

2√3 − √2

5√2 + √3
  

=
2√2

2√3 − 2√2
 

=
2√2

2√3 − 2√2
×

2√3 + 2√2

2√3 + 2√2
 

=
4√6 + 4√4

12 − 8
 

=
4√6 + 8

4
 

= √6 + 2 

=
3

√5 − √2
×

√5 + √2

√5 + √2
 

=
3(√5 + √2)

5 − 2
 

=
3(√5 + √2)

3
 

= √5 + √2 

=
2√3 − √2

5√2 + √3
×

5√2 − √3

5√2 − √3
 

=
10√6 − 2√9 − 5√4 − √6

50 − 3
 

=
9√6 − 16

47
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3. Rationalize the numerator. 

a.  √5 − 1

4
  b.  

2 − 3√2

2
  c.  

√5 + 2

2√5 − 1
  

=
√5 − 1

4
×

√5 + 1

√5 + 1
 

=
5 − 1

4(√5 + 1)
 

=
4

4(√5 + 1)
 

=
1

√5 + 1
 

=
2 − 3√2

2
×

2 + 3√2

2 + 3√2
 

=
4 − 18

2(2 + 3√2)
 

=
−14

2(2 + 3√2)
 

=
−7

2 + 3√2
 

 

=
√5 + 2

2√5 − 1
×

√5 − 2

√5 − 2
 

=
5 − 4

10 − 4√5 − √5 + 2
 

=
1

12 − 5√5
 

d.  √
𝑎 − 2

𝑎 − 4
  e.  √

𝑥 + 4 − 2

𝑥
  f.  √

𝑥 + ℎ − 𝑥

𝑥
  

=
√𝑎 − 2

𝑎 − 4
×

√𝑎 + 2

√𝑎 + 2
 

=
𝑎 − 4

𝑎√𝑎 + 2𝑎 − 4√𝑎 − 8
 

=
𝑎 − 4

(𝑎 − 4)√𝑎 + 2(𝑎 − 4)
 

=
𝑎 − 4

(𝑎 − 4)(√𝑎 + 2)
 

=
1

√𝑎 + 2
 

=
√𝑥 + 4 − 2

𝑥
×

√𝑥 + 4 + 2

√𝑥 + 4 + 2
 

=
(𝑥 + 4) − 4

𝑥(√𝑥 + 4 + 2)
 

=
𝑥

𝑥(√𝑥 + 4 + 2)
 

=
1

√𝑥 + 4 + 2
 

=
√𝑥 + ℎ − 𝑥

𝑥
×

√𝑥 + ℎ + 𝑥

√𝑥 + ℎ + 𝑥
 

=
(𝑥 + ℎ) − 𝑥2

𝑥(√𝑥 + ℎ + 𝑥2)
 

= −
𝑥2 − 𝑥 − ℎ

𝑥√𝑥 + ℎ + 𝑥2
 

 
 
 
 


